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M(Y1): 0.0+5.3 X 0.91 = 4.8 kN*m
M(Y3): 4.8-5.3%x1.82=-48 kN*m
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M(Y:5.75): 0.0+5.3 X 1.59 = 8.4 kN*m
M(Y:7.75): 8.4-53%X1.82 =-1.2 kN-m
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HEREILYDEHE
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M(Y5): 0.0+1.3x0.91 = 1.2 kN*m
M(Y6): 1.2-4.0%x0.91 = -2.4 kN*m




HhHES 16787 5<< Ver 2.0.0.3 build 20250116 %178 : 2025% 028 11H

HELYUDETHE
PHARERER #HETH 10-3-5
X:12.5 @Y
R AR (kN)

IKFERBEXSERANO=166 kN HEXHEKXF NO=16.6 kN
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MB(ZK = 1 BF) (kN+=m)
11.6 11.6
6.2 55

| | | | | | |

| | | | | 00 | |
YO Y1 Y2 Y3 Y4 Y5 Y6 Y7 Y8

M(Y1): 0.0+6.8 X0.91 = 6.2 kN*m
M(Y3): 6.2-0.4%x 1.82 = 55 kN*m
M(Y4): 55+6.8 X091 = 11.6 kN*m
M(Y5): 11.6-0.0x0.91 = 11.6 kN-m
M(Y7): 11.6-6.4x1.82 =0.0 kN-m
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M(X2): 0.0+5.5%x0.91 = 5.0 kN*m
M(X4): 50-5.1X1.82 = -4.2 kN*m
M(X6): —4.2+5.5 % 1.82 = 5.9 kN-m
M(X8): 5.9-5.1 X 1.82 = -3.4 kN*m
M(X:9.5): —3.4+5.5X 1.37 = 4.2 kN*m

M(X:11.5): 42-5.1x1.82 = -5.0 kN-m
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HELYUDETHE
PriARERER $HET = 10-3-7
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IKFERBEXSERANOI=124kN EXHEKEF NO =124 kN
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M(X2): 0.0+6.9 X091 = 6.3 kN*m
M(X3): 6.3+1.6 X091 = 7.8 kN*m
M(X5): 7.8-3.7%1.82 = 1.0 kN=m
M(X:6.5): 1.0+1.6 X 1.37 = 3.3 kN*m
M(X8): 3.3-3.7%x 1.37 = -1.8 kN*m
M(X:10.75): =1.8+1.6 X 2.50 = 2.3 kN-m
M(X:11.75): 2.3-3.7X0.91 = -1.1 kN*m
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MEI(ZK S F38F) (kN=m)
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M(X:3.25): 0.0+3.5X 1.14 = 40 kN*m
M(X:3.75): 4.0-7.1 X 0.46 = 0.8 kN*m
M(X:6.5): 0.8+3.5%2.50 = 9.6 kN*m
M(X:7.5): 9.6-7.1 X0.91 = 3.2 kN-m
M(X:8.5): 3.2+3.5%0.91 = 6.4 kN*m
M(X:9.5): 6.4-7.1 Xx0.91 = -0.0 kN-m
M(X:10.5): —0.0+3.5x0.91 = 3.2 kN*m
M(X:11.5): 3.2-7.1 X0.91 = -3.2 kN-m
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Y OFtE

PHAERERED #EISE

10-3-9

FG1 X1&Y Y1~Y3 FAOEME | = 1820 mm
b =150 mm, D = 520mm, dt = 60mm,
F5 DI13(at = 126.7 mm"2),
$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2
avy)—hk Lfs =0.70 N/mm"2

ROFGERCHORE
FOMEEESIHEE w = 6872 N/m
C=1/12xwx 172 = 1897 Nm
MO = 1/8xwx 172 = 2845 Nm
QL = 1/2xwx | = 6254 N
R ERRAMITE—A > M ML = 2845 Nm
ML = 2845 =< M = atx jxLft/1073 =
QL/(bxj) = 0.104 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(Y1) = 4823 Nm, M(Y2) = 0 Nm, M(Y3)
T ERRKHITE—A2 b
Ms (Y1) = [M(Y1)| + C = 6720 Nm
Ms(Y2) = [M(Y2)| + MO = 2845 Nm
Ms(Y3) = [M(Y3)| + C = 6720 Nm

QE = 5300 N
Qs = QL + 1.5xQE = 14204 N
Qs/(bxj) =0.235 N/mm™2 < Sfs = 1.4 N/mm"2

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K

9944 Nm ---

Ms = 6720 Nm = M = atx jx Sft/1073 = 15044 Nm

j = 1/8% (D-dt) = 403mm
B AMTHERET 0100200

Sfs = 1.40 N/mm"2

0K

= —4823 Nm
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ERILY DR
BEARERER #HEIE 10-3-10

FG1 X2:@Y Y:5.75~Y:7.75 EAOERE | = 1820 mm

b =150 mm, D = 520mm, dt = 60mm, j = 7/8% (D-dt) = 403mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RBTERISNDORE
FOMAEFI e E w = 5947 N/m
C=1/12xwx 172 = 1642 Nm
MO = 1/8xwx 172 = 2462 Nm
QL = 1/2xwx | = 5412 N
R ERRAMITE—A > M ML = 2462 Nm
ML = 2462 < M = at x jxLft/10°3 = 9944 Nm --- OK
QL/(bxj) = 0.090 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(Y:5.75) = 8440 Nm, M(Y:6.75) = 3617 Nm, M(Y:7.75) = -1206 Nm
T ERRKHITE—A2 b
Ms(Y:5.75) = IM(Y:5.75)| + C = 10082 Nm
Ms(Y:6.75) = |M(Y:6.75)| + MO = 6080 Nm
Ms(Y:7.75) = IM(Y:7.75)| + C = 2847 Nm
Ms = 10082 Nm < M = atx jxSft/1073 = 15044 Nm --- OK
GE = 5300 N
Gs = QL + 1.5xQE = 13362 N
Qs/(bxJj) =0.221 N/mm"2 < Sfs = 1.4 N/mm"2 - OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K
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ERILY DR
BEARERER #HEIE 10-3-11

FG2 X8@Y Y5~Y6 BHOERME | = 910 mm

b =150 mm, D = 500mm, dt = 60mm, j = 7/8% (D-dt) = 385mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RBTERISNDORE
FOMAEFIMEAE w = 12983 N/m
C=1/12xwx 172 = 896 Nm
MO = 1/8xwx 172 = 1344 Nm
QL = 1/2xwx | = 5907 N
R ERRAMITE—A > M ML = 1344 Nm
ML = 1344 < M = at x jxLft/10°3 = 9512 Nm --- OK
QL/(bxj) =0.102 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(Y5) = 1206 Nm, M(Y:5.5) = -603 Nm, M(Y6) = -2412 Nm
T ERRKHITE—A2 b
Ms(Y5) = [M(Y5)| + C = 2102 Nm
Ms(Y:5.5) = [M(Y:5.5)| + MO = 1947 Nm
Ms(Y6) = [M(Y6)| + C = 3307 Nm
Ms = 3307 Nm < M = atx jxSft/1073 = 14390 Nm --- OK
GE = 3975 N
Gs = QL + 1.5xQE = 11870 N
Qs/(bxj) =0.206 N/mm"2 < Sfs = 1.4 N/mm"2 --- OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K
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Y OFtE

PHAERERED #EISE

10-3-12

FG1 X:12.5&Y Y1~Y3 FAOERNE | = 1820 mm
b =150 mm, D = 520mm, dt = 60mm,
F5 DI13(at = 126.7 mm"2),
$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2
avy)—hk Lfs =0.70 N/mm"2

ROFGERCHORE
FOMEEESIHEE w = 5733 N/m
C=1/12xwx 172 = 1583 Nm
MO = 1/8xwx 172 = 2374 Nm
QL = 1/2xwx | = 5217 N
R ERRAMITE—A > ME ML = 2374 Nm

REEERRAMITFE—AV b

Ms (Y1) = [M(Y1)| + C = 7754 Nm
Ms(Y2) = [M(Y2)| + MO = 8198 Nm
Ms(Y3) = [M(Y3)| + C = 7058 Nm

QE = 382 N
Qs = QL + 1.5xQE = 5791 N
Qs/(bxj) =0.09 N/mm™2 < Sfs = 1.4 N/mm"2

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K

ML = 2374 < M = atx jxLft/10°3 = 9944 Nm ---

QL/(bxj) = 0.086 N/mm"2 = 0.7 N/mm"2 --- OK
FEE ERFIC DODRTE

MR Ok FNED & Y.

Ms = 8198 Nm = M = atx jx Sft/1073 = 15044 Nm

j = 1/8% (D-dt) = 403mm
B AMTHERET 0100200

Sfs = 1.40 N/mm"2

0K

M(Y1) = 6172 Nm, M(Y2) = 5824 Nm, M(Y3) = 5476 Nm
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Y OFtE

PHAERERED #EISE

10-3-13

FG1 X:12.5&Y Y5~YT FAOERNE | = 1820 mm
b =150 mm, D = 520mm, dt = 60mm,
F5 DI13(at = 126.7 mm"2),
$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2
avy)—hk Lfs =0.70 N/mm"2

ROFGERCHORE
FOMEEESIHEE w = 5596 N/m
C=1/12xwx 172 = 1545 Nm
MO = 1/8xwx 172 = 2317 Nm
QL = 1/2xwx | = 5093 N
R ERRAMITE—A > ME ML = 2317 Nm

REEERRAMITFE—AV b

Ms(Y5) = [M(Y5)| + C = 13183 Nm
Ms(Y6) = [M(Y6) | + MO = 8141 Nm
Ms(Y7) = [M(YT)| + C = 1554 Nm

QE = 6390 N
Qs = QL + 1.5xQE = 14677 N
Qs/(bxj) =0.243 N/im™2 < Sfs = 1.4 N/mm"2

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K

ML = 2317 < M = atx jxLft/10°3 = 9944 Nm ---

QL/(bxj) = 0.084 N/mm"2 = 0.7 N/mm"2 --- OK
FEE ERFIC DODRTE

MR Ok FNED & Y.

Ms = 13183 Nm = M = atx jxSft/10"3 = 15044 Nm

j = 1/8% (D-dt) = 403mm
B AMTHERET 0100200

Sfs = 1.40 N/mm"2

0K

M(Y5) = 11639 Nm, M(Y6) = 5824 Nm, M(Y7) = 9 Nm
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Y OFtE

PHAERERED #EISE

10-3-14

FG1 YOEY X2~X4 FAOERME | = 1820 mm
b =150 mm, D = 520mm, dt = 60mm,
F5 DI13(at = 126.7 mm"2),
$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2
avy)—hk Lfs =0.70 N/mm"2

ROFGERCHORE
FOMEEESHEE w = 8535 N/m
C=1/12xwx 172 = 2356 Nm
MO = 1/8xwx 172 = 3534 Nm
QL = 1/2xwx | = 7767 N
R ERRAMITE—A > M ML = 3534 Nm

M(X2) = 5033 Nm, M(X3) = 419 Nm, M(X4)
REEERRAMITFE—AV b

Ms(X2) = [M(X2)| + C = 7389 Nm
Ms(X3) = [M(X3)| + MO = 3953 Nm
Ms(X4) = [M(X4) | + C = 6550 Nm

QE = 5070 N
Qs = QL + 1.5xQE = 15371 N
Qs/(bxj) =0.255 N/mm™2 < Sfs = 1.4 N/mm"2

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K

ML = 3634 < M = atx jxLft/10°3 = 9944 Nm ---

QL/(bxj) =0.129 N/mm"2 = 0.7 N/mm"2 --- OK
FEE ERFIC DODRTE

MR Ok FNED & Y.

Ms = 7389 Nm < M = atx jx Sft/1073 = 15044 Nm

j = 1/8% (D-dt) = 403mm
B AMTHERET 0100200

Sfs = 1.40 N/mm"2

0K

= -4194 Nm
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ERILY DR
BEARERER #HEIE 10-3-15

FG1 YO&Y X:9.5~X:11.5 BAOERNE | = 1820 mm

b =150 mm, D = 520mm, dt = 60mm, j = 7/8% (D-dt) = 403mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RBTERISNDORE
FOMAEFI M E w = 8492 N/m
C=1/12xwx 172 = 2344 Nm
MO = 1/8xwx 172 = 3516 Nm
QL = 1/2xwx | = 7728 N
R ERRAMITE—A > M ML = 3516 Nm
ML = 3516 < M = atx jxLft/10°3 = 9944 Nm --- OK
QL/(bxj) =0.128 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(X:9.5) = 4194 Nm, M(X:10.5) = -419 Nm, M(X:11.5) = -5033 Nm
T ERRKHITE—A2 b
Ms(X:9.5) = [M(X:9.5)| + C = 6538 Nm
Ms(X:10.5) = |M(X:10.5)| + MO = 3935 Nm
Ms(X:11.5) = IM(X:11.5)| + C = 7377 Nm
Ms = 7377 Nm < M = atx jxSft/1073 = 15044 Nm --- OK
GE = 5070 N
Gs = QL + 1.5xQE = 15332 N
Qs/(bx]j) =0.254 N/mm"2 < Sfs = 1.4 N/mm"2 --- OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K
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Y OFtE

PHAERERED #EISE

10-3-16

FG1 YOEY X6~X8 FACIERME | = 1820 mm
b =150 mm, D = 520mm, dt = 60mm,
F5 DI13(at = 126.7 mm"2),
$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2
avy)—hk Lfs =0.70 N/mm"2

ROFGERCHORE
FOMEEESIHEE w = 8492 N/m
C=1/12xwx 172 = 2344 Nm
MO = 1/8xwx 172 = 3516 Nm
QL = 1/2xwx | = 7728 N
R ERRAMITE—A > M ML = 3516 Nm

M(X6) = 5871 Nm, M(X7) = 1258 Nm, M(X8)
REEERRAMITFE—AV b

Ms (X6) = [M(X6)| + C = 8216 Nm
Ms(X7) = [MX7) | + MO = 4774 Nm
Ms(X8) = [M(X8)| + C = 5699 Nm

QE = 5070 N
Qs = QL + 1.5xQE = 15332 N
Qs/(bxj) =0.254 N/im™2 < Sfs = 1.4 N/mm"2

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K

ML = 35616 < M = atx jxLft/10°3 = 9944 Nm ---

QL/(bxj) =0.128 N/mm"2 = 0.7 N/mm"2 --- OK
FEE ERFIC DODRTE

MR Ok FNED & Y.

Ms = 8216 Nm = M = atx jx Sft/1073 = 15044 Nm

j = 1/8% (D-dt) = 403mm
B AMTHERET 0100200

Sfs = 1.40 N/mm"2

0K

= -3355 Nm
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ERILY DR
BEARERER #HEIE 10-3-17

FG2 Y4@Y X:10.75~X:11.75 FAQOERHE | = 910 mm

b =150 mm, D = 500mm, dt = 60mm, j = 7/8% (D-dt) = 385mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RBTERISNDORE
FOMAEFIMEE w = 16310 N/m
C=1/12xwx 172 = 1126 Nm
MO = 1/8xwx 172 = 1688 Nm
QL = 1/2xwx | = 7421 N
R ERRAMITE—A > ME ML = 1688 Nm
ML = 1688 < M = atx jxLft/10°3 = 9512 Nm --- OK
QL/(bxj) =0.129 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE

ME KRB & Y
M(X:10.75) = 2254 Nm, M(X:11.25) = 577 Nm, M(X:11.75) = -1101 Nm

T ERRKHITE—A2 b
Ms(X:10.75) = |[M(X:10.75)| + C = 3380 Nm
Ms(X:11.25) = [M(X:11.25)| + MO = 2265 Nm
Ms(X:11.75) = [M(X:11.75)| + C = 2226 Nm

Ms = 3380 Nm < M = atx jxSft/1073 = 14390 Nm --- OK

GE = 3687 N

Gs = QL + 1.5xQE = 12952 N

Qs/(bx]j) =0.224 N/nm"2 < Sfs = 1.4 N/mm"2 - OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K
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ERILY DR
BEARERER #HEIE 10-3-18

FG2 Y4@&EY X:6.5~X8 BHOEME | = 1365 mm

b =150 mm, D = 500mm, dt = 60mm, j = 7/8% (D-dt) = 385mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RBTERISNDORE
FOMAEFIMEE w = 18341 N/m
C=1/12xwx 172 = 2848 Nm
MO = 1/8xwx 172 = 4272 Nm
QL = 1/2xwx | = 12518 N
R ERRAMITE—A > MME ML = 4272 Nm
ML = 4272 < M = at x jxLft/10°3 = 9512 Nm --- OK
OL/(bxj) =0.217 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(X:6.5) = 3250 Nm, M(X:7.25) = 734 Nm, M(X8) = -1782 Nm
T ERRKHITE—A2 b
Ms(X:6.5) = [M(X:6.5)| + C = 6098 Nm
Ms(X:7.25) = IM(X:7.25)| + MO = 5006 Nm
Ms(X8) = [M(X8)| + C = 4630 Nm
Ms = 6098 Nm < M = atx jxSft/1073 = 14390 Nm --- OK
GE = 3687 N
Gs = QL + 1.5xQE = 18048 N
Qs/(bxj) =0.313 N/mm"2 < Sfs = 1.4 N/mm"2 --- OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K




HHE=S 16787 H<$< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 110

BEEY DEE
BEARERER #HEIE 10-3-19

FG2 Y4EY X3~X5 FAOERMME | = 1820 mm

b =150 mm, D = 500mm, dt = 60mm, j = 7/8% (D-dt) = 385mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

ROFGERCHORE
FROMEEFLIHEE w = 18384 N/m
C=1/12xwx 172 = 5075 Nm
MO = 1/8xwx 172 = 7612 Nm
QL = 1/2xwx | = 16729 N
R ERRAMITE—A > M ML = 7612 Nm
ML = 7612 < M = at x jxLft/10°3 = 9512 Nm --- OK
QL/(bxj) =0.290 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(X3) = 7759 Nm, M(X4) = 4404 Nm, M(X5) = 1048 Nm
T ERRKHITE—A2 b
Ms(X3) = [M(X3)| + C = 12833 Nm
Ms(X4) = [M(X4) | + MO = 12015 Nm
Ms(X5) = [M(X5)| + C = 6123 Nm
Ms = 12833 Nm < M = atx jxSft/1073 = 14390 Nm --- OK
GE = 3687 N
Gs = QL + 1.5xQE = 22260 N

Gs/(bxj) =0.385 N/mm"2 = Sfs = 1.4 N/mm"2 --- OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K




HHE=S 16787 H<$< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 110

ERILY DR
BEARERER #HEIE 10-3-20

FG1 Y8@Y X:3.25~X:3.75 EAOERME | = 455 mm

b =150 mm, D = 520mm, dt = 60mm, j = 7/8% (D-dt) = 403mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RETERTHORE
FOMEEZFLIMEE w = 8409 N/m
C=1/12xwx 172 = 145 Nm
MO = 1/8xwx 172 = 218 Nm
AL = 1/2xwx | = 1913 N
R ERZABITE—A > M ML = 218 Nm
ML =218 < M = atx jxLft/10°3 = 9944 Nm --- OK
AL/ (bxj) =0.032 N/im"2 < 0.7 N/mm"2 --- 0K

AR ERIL D OBRE
ME KRB & Y
M(X:3.25) = 4019 Nm, M(X:3.5) = 2411 Nm, M(X:3.75) = 804 Nm
T ERRKHITE—A2 b
Ms(X:3.25) = IM(X:3.25)| + C = 4164 Nm
Ms(X:3.5) = [M(X:3.5)| + MO = 2629 Nm
Ms(X:3.75) = IM(X:3.75)| + C = 949 Nm
Ms = 4164 Nm < M = atx jxSft/1073 = 15044 Nm --- OK
GE = 7067 N
Gs = QL + 1.5xQE = 12513 N
Qs/(bxJj) =0.207 N/mm"2 < Sfs = 1.4 N/mm"2 --- OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K




HHE=S 16787 H<$< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 110

ERILY DR
BEARERER #HEIE 10-3-21

FG1 Y8@Y X:6.5~X:7.5 FAQEME | = 910 mm

b =150 mm, D = 520mm, dt = 60mm, j = 7/8% (D-dt) = 403mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RBTERISNDORE
FOMAEFI e E w = 8409 N/m
C=1/12xwx 172 = 580 Nm
MO = 1/8xwx 172 = 870 Nm
QL = 1/2xwx | = 3826 N
R ERRAMITE—A > M ML = 870 Nm
ML = 870 < M = atx jxLft/10"3 = 9944 Nm --- OK
QL/(bxj) = 0.063 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(X:6.5) = 9646 Nm, M(X7) = 6431 Nm, M(X:7.5) = 3215 Nm
T ERRKHITE—A2 b
Ms(X:6.5) = [M(X:6.5)| + C = 10226 Nm
Ms(X7) = [M(X7)| + MO = 7301 Nm
Ms(X:7.5) = [M(X:7.5)| + C = 3796 Nm
Ms = 10226 Nm < M = atx j xSft/1073 = 15044 Nm --- OK
GE = 7067 N
Gs = QL + 1.5xQE = 14426 N
Qs/(bx]j) =0.239 N/mm"2 < Sfs = 1.4 N/mm"2 --- OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K




HHE=S 16787 H<$< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 110

ERILY DR
BEARERER #HEIE 10-3-22

FG1 Y8@Y X:8.5~X:9.5 EAQEME | = 910 mm

b =150 mm, D = 520mm, dt = 60mm, j = 7/8% (D-dt) = 403mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RBTERISNDORE
FOMAEFI e E w = 6378 N/m
C=1/12xwx 172 = 440 Nm
MO = 1/8xwx 172 = 660 Nm
QL = 1/2xwx | = 2902 N
R ERRAMITE—A > M ML = 660 Nm
ML = 660 < M = atx jxLft/10"3 = 9944 Nm --- OK
QL/(bxj) = 0.048 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(X:8.5) = 6431 Nm, M(X9) = 3215 Nm, M(X:9.5) = -0 Nm
T ERRKHITE—A2 b
Ms(X:8.5) = [M(X:8.5)| + C = 6871 Nm
Ms(X9) = [M(X9) | + MO = 3876 Nm
Ms(X:9.5) = [M(X:9.5)] + C = 440 Nm
Ms = 6871 Nm < M = atx jxSft/1073 = 15044 Nm --- OK
GE = 7067 N
Gs = QL + 1.5xQE = 13502 N
Qs/(bx]j) =0.224 N/nm"2 < Sfs = 1.4 N/mm"2 - OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K




HHE=S 16787 H<$< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 110

ERILY DR
BEARERER #HEIE 10-3-23

FG1 Y8@Y X:10.5~X:11.5 EAOEME | = 910 mm

b =150 mm, D = 520mm, dt = 60mm, j = 7/8% (D-dt) = 403mm

I/ D13(at = 126.7 mm"2), HABTERH D10€200

$%#5 Lft = 195 N/mm"2  Sft = 295 N/mm"2

avy)—F Lfs =0.70 N/mm"2  Sfs = 1.40 N/mm"2

RBTERISNDORE
FOMAEFI e E w = 6378 N/m
C=1/12xwx 172 = 440 Nm
MO = 1/8xwx 172 = 660 Nm
QL = 1/2xwx | = 2902 N
R ERRAMITE—A > M ML = 660 Nm
ML = 660 < M = atx jxLft/10"3 = 9944 Nm --- OK
QL/(bxj) = 0.048 N/mm"2 = 0.7 N/mm"2 --- OK

AR ERIL D OBRE
ME KRB & Y
M(X:10.5) = 3215 Nm, M(X11) = -0 Nm, M(X:11.5) = -3215 Nm
T ERRKHITE—A2 b
Ms(X:10.5) = |M(X:10.5)| + C = 3655 Nm
Ms (X11) = [M(X11)| + MO = 660 Nm
Ms(X:11.5) = |M(X:11.5)| + C = 3655 Nm
Ms = 3655 Nm < M = atx jxSft/1073 = 15044 Nm --- OK
GE = 7067 N
Gs = QL + 1.5xQE = 13502 N
Qs/(bx]j) =0.224 N/nm"2 < Sfs = 1.4 N/mm"2 - OK

A BTFESRER EE (ow) DIRTE
aw = 71 mm"2 (D10), x = 200 mm
pw = aw/(bxx) = 0.238% = 0.2% --- 0K




